Relative difficulty of different kinds of problems. (type in your answers, and upload to D2L)
1. First, watch the video of Michael, who was asked these questions:

A. If you buy 2 fireworks, and Abraham buys 3, how many did you two together buy?

B. You buy 2 fireworks, then you buy 3 more, how many fireworks did you buy?

What problem type is the first problem?

What problem type is the second problem?

What about the first problem made it harder for Michael than the second problem?

2. Consider the scenario: a child is posed the following question: 

If Kyle has 10 pencils, and Emma has 6 pencils,  how many more pencils does Kyle have than Emma?

The child answers: 10.  

Theorize about what is going on in the child’s head, and what you might try to help them 

3. Choose any pair of  CGI problem types where one is significantly more difficult than the other, and explain what makes the harder one harder.

